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1. Give three examples of continuous variations ii human beings. (3mks)
2. State the changesthat ke placeinth ski o reduce hat loss when i getscold. (3
5. () Name the main product of the drk sage ofphotosynthesis. (1mk)
(i1) State the importance of chlorophyll in photosynthesis (1mk)

. State the functlon O fth e fouowmg ...........................................................................
(i)  Coarse adjustment Knob. (1mk)
(u) ..... Dlaphr agm ......................................................................................... (lmk)

) (a) Whatlsfemhzatlon? ................................................................................ ( kas)
() Explain how double ferlzation akes place mplanss. (o)

6. The diagram below represents a mammalian vertebra.
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(a) What is a vertebra? (1mk)
(b) (i) Identify the vertebra represented above. (1mk)
(i1) Give two reasons for your answer in b (i) above (2mks)
7. State two reasons why blood flows under high pressure in arteries than veins. (2mks)

8. The flow chart shows part of a food relationship in an ecosystem.

Animal 2

Rabbits

Green plants

(a) (i) Name the food relationship shown. (1mk)

(i1)) How many trophic levels are shown in the diagram? (1mk)

(b) What is the main source of energy in the ecosystem? (1mk)

9. (i) State two regions in the human alimentary canal where starch is digested (2mks)

(i1) Give a reason for your answer in 9 (i) above (1mk)
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10. State the structural adaptation of the shape of the following. (3mks)
(i) Tilapia fish
(i1) Mitochondria
(iii) Pinna of the mammalian ear
11. What is the effect of gibberellins on the shoots of plants? (4mks)

12. The graph below shows action of heat on enzyme reaction.

Rate of B
Enzvme |
- [
reation : C
|
I
|
A Temperature ( °C)
(a) What is the effect of temperature on the rate of enzyme reaction? (2mks)
(b) State the relationship between temperature and enzyme activity. (2mks)
13. (a) Distinguish between pyramid of numbers and Pyramid of biomass. (2mks)
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(b) Give a reason why pyramid of biomass is a better representation of an ecological relationship.
(1mk)
14. State the functions of each of the following parts of male reproductive system. (3mks)

(a) Sertoli cells

15. Some students set up the experiment shown below to investigate a certain physiological process in

plants. After one hour they place cobalt chloride paper on leaf surface.

——drrriling b

oil laycr

-

(a) What process was being investigated? (1mk)

(b) State the role of the oil layer in the experiment. (1mk)

(c) Suggest the changes observed on the cobalt chloride paper after one hour. (1mk)
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16. Explain why student visits latrine to urinate more frequently on cold days. (2mks)
17. Name the type of skeletons found in the following animals. (3mks)

(i) Insects

18. During oxidation of certain food substances, the respiratory quotient was found to be 0.718

(i) Name the type of food substance being oxidized. (1mk)

19. The diagram below shows various types of gene mutations..

Mutation 1: (A|B|C|D‘E|1:|G) — GEB

Mutation 2: (A[B[C[D[E[F[G} —> (A|B|C|FIE[D|G)

(a) Identify the type of gene mutation shown above. (2mks)
MUAtioON 1 ..o e
AL 5 10 1
(b) Distinguish between gene and chromosomal mutations. (2mks)
BOMET DISTRICT MOCK © 2007 2311

Ti ps on passing KCSE subscribe freely @http://ww.joshuaarim.com
Connect with Joshua Arim on facebook.



For More Free KCSE Revi sion Past Papers and Answers Visit http://ww.)oshuaari m.con

7
20. (a) Give two forms in which carbon (IV) oxide is transported in human blood. (2mks)

(b) Name the enzyme that enhances the loading and off — loading of carbon (IV) oxide in the

human blood. (1mk)
21. Explain how marine fish regulate their osmotic pressure. (3mks)
22. Name three types of nerve cells found in the nervous system of vertebrates. (3mks)
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24. State three ways in which tracheole system in insects is adapted for its functions. (3mks)
25. Name the cell organelle that performs each of the following functions. (2mks)
(i) Destroy worn out organelle
(i1) Tissue respiration
26. State the type of solution that makes the plant cell:- (2mks)

(1) Flaccid

acndling B

(a) Identify the type of germination exhibited by seedlings A and B. (2mks)
SeeAliNg A ..o
Seedling B .. e

(b) State the role of oxygen in germination. (1mk)
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